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Question One.
Fill the gaps:

1. The three basic layers of the Earth are ......cocevveeiveevceves e ceeeseieeeees @00 i

2. The earth’s crust is composed of three basic roCK tYPES .o en s

3. In chemical terms a hydrocarbon is a compound containing the elements ........cccoevceeeveecevevennn.
and ....cviivesinen. With  other materials often contain
v AN e e

4. Crude oils are a complex mixture of organic compounds including different compound classes:

5., PAMAry:mMIBration IS e anmnmmssmmimsssisssssmss s s mmasraaaiwhile
SECONAATY MIGTATION IS oueuitiiriieritei et et ettt et et tee e e sea s ees s s e ssesssassesses et ses s ses e et essse eeseen s enesmenes
B, SOUFCE FOCK IS wrurureeeeseesiereeres e seet et e es et st sss et sassas s s sassas s s s sessas s ae s saa e et sessas ot st sesste ot senenene sesaesenn oo
7. The main source rock maturation iNdiCatOrs are ..........oeeecoeeeeeveeceeee e eee s e
O . TN
8. OQil is generated at temperatures of ........cccceeee.® 10 covvevciennenes °C, which are typically found at
depths of ..cccveeee. 10 e kM.
9. In the Carbonate reservoirs the porosity is called .......ccocoveeeeeeeeeeececeeeeee e eeereeeenen.. While in
the clastic reservoirsitis called .......c..oooeveriveveeeereeceeee..
Question Two.
What is Kerogen? Explain the main types of kerogen with a sketch where possible?
Question Three.
Explain the main conversion steps of the organic matter to the hydrocarbon? What are the main factors
influencing the quality of the source rocks and the criteria for a sedimentary rock to be an effective oil

source?
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Question Four.
Explain the main properties required from a rock to be a viable reservoir rock? Explain the major factors

affecting the clastic rock permeability?

Question Five.

From the two layers model below calculate:
1. The Acoustic Impedance (Z).
2. The Reflection Coefficient (R.).

3. The Transmission Coefficient (T,).

V; =2300 m/s
Layer 1 Sandstone p1=2.1g/cm3
A
Layer 2 Limestone
V; = 4500 m/s
p1=2.5g/cm3
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